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9YH drafds qiiar (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

gfaeel wea U ¥e-02
Model Question Paper SET-02

FaT-11 fwa- carqaR® sregasr | wwg- 1 €T 30 fie quItE-40
AT fA&er-

> Y e fAart § 1

It is mandatory to answer all the questions.
> wedl T FT AT 40 ¥ |
The total number of questions is 40.
> UeE e & faw 1 3w Fuifa &1
Each question carries 1 mark.
> U AF N & fav ax fFed Ru av §1 598 ¥ v 7 [ewew &1 a7 ffFw |
Each question is provided with 4 options. Choose the correct option.
> Idd 3 & AT FIE e A FIE FATCA |

There will be no negative marking for any wrong answer.

1. 3AH § Pia-4T caraards fhar § (Which of these is the business activity)-
(a) AT & HI-TAHT FET (Purchase-Sale of Goods)
(b) AT A YT LT (Worship in the Temple)
(c) UG & TTY YMET HLAT (Fraud with the Customers)
(d) AT & dof & AHelrae =T (Adulteration in the Mustard Oil)

2. WO 9Y @I fRE A § IR ¢ S0 ol affd &7 @ gt & v S wd g 3R deel &
ari#fAS gred R gl
(The occupation in which people work for others and get remuneration in return is known as)-
(a) cIgHT (Business)
(b) VSRR (Employment)
(c) 92 (Profession)

(d) 3T & &5 AgT (None of these)

3. fw=faf@a # & fhaenr caraaeh 3egea &1 Aol # guffepa =g fohar S @ (Which of the

following cannot be classified as an objective of business)

(a) fTafaaeT (Investment)
(b) 3cdreahdr (Productivity)
(c) Aayad (Innovation)
(d) eImHCTISRdT (Profit earning)
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is with us everyday." Who said this out of the following)-
(@) g1 (Haney)

(b) AT (Marshal)

(c) sSTeelard (Batliboi)

(d) e’ (Wheeler)

(Business risk is not likely to arise due to ........... )
(a) TXNT sAifa 7 gRader (Change in govt. policy)
(b) 3BT 9= (Good management)

(c ) FHATART FT ISATT (Employees dishonesty)

(d) 377 & @IS Agr (None of these)

6. ATfoIsd (Commerce)-
(a) STGETT FT 39T ¢ (Is a Part of Business)
(b) STIR T 37T & (Is a Part of Trade)
(c) 3T & 31T ¢ (Is a part of Industry)
(d) 3uiera @efT (All the above )

7. AEfAf@d # @ o saR & Tgreh @ Al A gefiehd w61 foham ST Fevam (Which of

following cannot be classified as an auxiliary to trade)-
(a) @elsT (Mining)

(b) &HAT (Insurance)
(c) H#SRUT (Warehousing)
(d) IrarATd (Transport)

8. Tt & & FT 'Seifeter 3eAer dr Aoft &7 7gr 3ma

(Which of the following can not be classified as genetic industry

(a) 9@TeTsT (Animal Husbandry)
(b) el (Mining)

(c) FetaTel=T (Poultry Farming)
(d) 3TRFa @l (All the above)

9. fawsT A Hig-ar AT 33T & (Which of the following is

manufacturing industry)?
(a) {geT FTAT (Construction of buildings)

4, “FAFH T AT TaqrT 8 Aea gAR Y BT &7 AT HUF fhad Feafeud § (“Business like weather

the
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(b) GeT SaiTel (Construction of bridges)
(c) I §=IT (Manufacture of sugar)
(d) s 1T (Construction of roads)

10. oot & @ Sia-dr Geras fohar Q@A T & g7 il & (Which
of the following auxiliary to trade provides protection from risk)?
(a) IRGgA TUT HeerraigsT (Transport and communication)

(b) AT (Insurance)
(c) §f&aT (Banking)
(d) TaaT9sT (Advertising)

1.7 # Sle-ar Qa1 3¢A9T g1 & (Which of the following is not

included in service industry)?
(a) ITar AT (Transport)

(b) df&aT (Banking)

(c) IRMTeTeT (Cattle rearing)
(d) TaaT9sT (Advertising)

12. &9 39ARAAT 1 Folel fole=t & leT HIAT & (Which of the following creates form utility)?
(a) IR (Trade)
(b) 36397 (Industry)
(c) aTfoIsT (Commerce)

(d) 37 & FIg 78T (None of these)

13. [FT & @ Thaeshl TTHT ST 3652 el gl AT Hehal? (Which of
the following cannot be called the objective of business?)

(a) sTaYadsT (Innovation)

(b) TAfIIIT (Investment)

(c) &IT8T 3ATSId =TT (Earning profit)
(d) IR Folel (Creation of customers)

14. et & @ form 3nfds frar & el 7 maegsrdar 7@ gidt? (Which
economic activity does not require capital?)
(a) AT (Employment)
(b) S¥aHTT (Business)
(c) 92T (Profession)
(d) g3 3uderc fRATT (Al the above)
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15. 9% Ifad FI Sifaeaea & fow fFa fRar & AT gsar §2(Every person has to do  which
activity for his livelihood?)

(a) 3f¥& (Economic)

(b) 37T+ (Non-economic)

(c) 3+ T 3= dF gt (Economic and Non-economic both)

(d) 1S o A& (None of these)

16. Tehel TATTHCT T foRaT &7 36529...... gIar g1 (Soletrade has ........... objective.) :
(a) 3T 9% (Non-economic)
(b) 3f¥& (economic)
(c) &=t (Both)
(d) 35 & FI$ 58T (None of these)

17. Tohel SIMURY TG BT Sided.......... gidar g1 (The life of sole
trade businessiis ...... ):
(a) 2R (stable)
(b) 31fEAR (unstable)
(c) 39ded &=t (both above)
(d) S FTET (none of these)

18. fF=T & TBIER Pl & Tl &2 (Who can be a partner)?
(a) ®H (Firm)

(b) HFIAT (Company)

(c) eafFd (An individual)

(d) 3WIFT T (None of them)

19. “Teeal & fafAd soR 3uesy =T e dgerr afafa &

32T € (Providing regular market to them member’s is the objective of which Co-operative Society?)
(a) g fauurer FfATT (Co-operative marketing society)

(b) 3cUTeeh TehRT IfATA (Producer's co-operative society)

(c) 3UleFaT Tghrr TfATT (Consumer's co-operative society)

(d) TgpRT @@ FfAfa (Co-operative credit society)

20. AFT & § -8 Tt AR H dAT & (Which is/are the

limitation/s of sole proprietorship?)
(a) AT Ie=er F2AAT (Limited managerial skill)

(b) FTAT Yair (Limited capital)
(c) 3AfAT g—¥ca (Unlimited liability)
(d) 3T T (All the above)
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21. TS Feuair H Ferar &1 3f¥edd T&IT gldr & (What is the maximum number of members in a

private company)?

(a) G1d (Seven)

(b) & (Ten)

(c)ar &t (Two Hundred)
(d) gdrg (Fifty)

22. & T & ¥ fReaxdr &1 e fhaenr § (Which of the following has the advantage of continuity)
(a) Tehel EGTACT (Sole proprietorship)

(b) TTEIERT (Partnership)

(c) HFIT (Company)

(d) Tefr caraaT@e TerssT (All the business Organisation)

23. 372 & YR g (The kinds of shares are) :
(a) 2
(b) 3
(c) 4
d) 5

24. FFIAT & FUYURT g1d g ? (Share holders of a company are):
(a) EGTHT (owners)

(b) FUTGTAT (Creditors)

(c) &R (debtors)

(d) 31 & HIs 78T (None of these)

25. gaTferehy 37T T oI X gicll & (The rate of dividend on preference shares is):
(a) AT (certain)

(b) AtfAT¥TA (uncertain)

(c) ¥gAdA (minimum)

(d) 318 & IS =T8T (none of these)

26. 9r¥e 3edfelad & 377 H 9L 81T & (In the absence of Articles of Association applies):
(a) aTfolhT-% (Table-F)
(b) arferT-a (Table-B)
(c) dTfeihI-A(Table-C)
(d) arfererT-g (Table-D)

27. ARA H 3ERIEN0T & AT g3 € (The effect of globalisation in India is):
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(a) facelr Hal HUSR H a:c\(i%r (Increase in Foreign currency Reserves)
(b) AT # Fefer (Increase in Exports)

(c) T &1 eX & gef& (Increase in Growth Development Rate)

(d) 3RFT F@HT (All the above)

28. W HETA H Fogiehd HAIA0T 3T @RI fhar ST §(Centralised control in MNC's implies

control exercised by):
(a) TT@IV (Branches),

(b) TETIT (Subsidiaries)
(c) ATl (Headquarters)
(d) §Fe (Parliament)

29. overeresinrnnn B AR, YA JfFA dE § S bl TfFadl § egagR Al & AR 30= Al arqd srear dar
FT 3UANT ITFAINT TR 9T FT gl1" (According to .............. "Professional is that which deals almost entirely with

persons and uses personal skill or service on an individual basis.")

(a) 3scg IR, T (W. R. Spriegal)
(b) ds¥eX T3Fa=II (Webster Dictionary)

(c) Tel. TA. &1 (L. H. Haney)

(d) 313 & H1S AGT (none of these)

10 & 3IER, “3¢NT AI0sT &1 g6 T § S U & 3cdieel & FFfewd g1" (Accordingto ........ ,

Industry is a branch of commerce, concerned with the production of wealth.")

1) TE. 3R, ST (S. R. Davar)
(b) Sse, 3IR. TN (W. R. Sprigel)
(a) TANEE (Anonimous)

(d) 318 & FIS AT (none of these)

31. 3¢l A U & gehR T aEqu @A g 87 (Industries often manufacture two types of goods?)
(a) IofeTeT aEV (Capital goods)
(OEREIESI a?—_c_iﬁ (Consumer goods)

(c) 3RFT 31 3R & &t (Botha and b above)
(d) 378 & @IS gl (none of these)
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32........ = SR + AR & TEFF HaATT (... Trade +) Auxiliaries of trade)
(a) aTfOIST (Commerce)

(b) @R (Trade)

(c) eTad™T (Business)

(d) 3RFT # & =767 (None of the above)

33. Al e 3r7ar JerNY=RITeT & fFa Aol & 3eddld IWT ST ST &7 (Into which category of industries can
sugar mill or oil refinery be classified ?)

(a) JTfAS (Primary)
(b) 7ftoT (Secondary)
(c) e (Tertiary)
(d) 3RYFT F & FIE 7 (None of the above)

34. PFafaf@a & g g H 3 Far F ve [{Ava & &9 F afFaea Farid i 3aegsargidar &

(Which requires pre-scribed and professional qualification and training) ?

(a) egadaTT (Business)

(b) 9= (Profession)

(c) USRI (Employment)

(d) 3RFa Y fopam & A&T (None of the above)

35. frT v Y 3 fFar & 3mar Gfgar 8y & (Which type of economic activity requires code of conduct)?
(a) =gadE™ (Business)

(b) 92 (Profession)

(c) ISP (Employement)

(d) 3RFaT TR fohar & Agr (None of the above)

36. forE TR &I 3NTH fordT 7 oM garT 3T 3ifeid dr ST § (In which type of economic activity income is
earned through profit?)

(a) SgFET (Business)

(b) 9= (Profession)

(c) ASIIR (Employment)

(d) 3R AT BFaT 3 A& (None of the above)

Page 7 of 8



37. 9% FH, S &eT g & [T o § 3R Feer A aiitafAs gred s § Se ST &1 (The occupation in which

people work for others and get remuneration in return is known as):
(a) cgadE™ (Business)
(b) TSR (Employment)

(c) 9= (Profession)

(d) 378 & @IS Agr (none of these)

38.T%h HH P TTIELAT FHT JHAUT-UT Hid TR AT &? (Who issues the 'Certificate of Registration' to a firm?)
(a) TS IR (State Government)
(b) P& TIHR (Central Government)

(c) ®wHf FT ITFTER (Registrar of firms)
(d) o1& & H1S A&T (none of these)

39. faiesT A @ @7 qul WEeR 1 Ao 7 G 31aT? (Which of the following is not covered under the category of
full fledged Partner)?

(a) GfshT TSGR (Active Partner)
(b) fAcTe] AR (Sleeping Partner)
(c) e ATSIER (Secret Partner)

(d) 9geTeT GaRT |HIGR (Partner by Holding out)

1o S ¥ gART AT et F 37 Wow TT A § A A A HAE F 36227 F IHheS g &

(cereeeenns refers to that voluntary organisation association of persons who joins together with the motive of welfare of
the members)?

(a) ATSIERT (Partnership)
(b) TfAT ar@ca @EIgRY (Limited Liability Partnership)
(c ) TgpRT FTATT (Co-operative Society)

(d) 395 & FIS =18l (none of these)

Page 8 of 8



